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O3 &l 8,000& *x304! x14H 3,360
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OZ222=22H A 1,630,000 x12& 19,560
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04 JI2ZtH 22Xt S 3,474 3,133 341
OF A= Xl 22l 66,8003 » 13 »522 3,474
201 Let249H] 12,389 9,784 2,605
02 =24l 12,389 9,784 2,605
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OAIE ZHI S X 1,539
O Xt& & Byl 2,605,000 »2CH 5,210
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osdz 15,000 »3CH =12 540
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N = 0 &8 AFH Y & A AN
201908 = 20l A LB H DEg ~ HEH
2AN: SoldH
M. SoHHAMEZ I
SR RS P EEREED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
SoilH 403,520 267,215 136,305
SOl H AN A b 105,280 85,310 19,970
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N = 0 &8 AFH Y & A AN
201908 = 20l A LB H DEg ~ HEH
EM: HaH
M. HIHAMSZU
Sel: NHRYHLET (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
HEH 310,479 209,797 100,682
HEHAIY B HI 5,000 5,000 0
NEZFENLF 5,000 5,000 0
WESHEEXY 5,000 5,000 0
206 M = Hl 5,000 5,000 0
01 X2t 5,000 5,000 0
OHFAIRI UE & e 2 5,000
HEHUMMHIXINE S 225,764 125,082 100,682
FOOFEHH =X 132,614 31,932 100,682
HAIS X 22| 14,220 13,879 341
101 @121l 3,474 3,133 341
04 JI2ZtH 22 XNEE % 3,474 3,133 341
OFAMNFA &2 2 66,800& *1H x52 3,474
201 LEt2 Y| 10,746 10,746 0
02 352494l 10,746 10,746 0
O A& & Hl 7 XYl 2,501
O&F AL Al HI 2,501
O Xt &k ghHy| 6,505
O=XMElA X X 22| 1,740
(OFrSPIN= 100,000& = 12& 1,200
Osd & 15,000& *3CH x12& 540
SXg2 2 18,394 18,053 341
101 @121l 3,474 3,133 341
04 JI2ZtH 22 XNEE 3,474 3,133 341
(OFSPIE=EngelR=-g=1 66,800& *1H x52 3,474
201 L2 Y| 14,920 14,920 0
01 At 22l Yl 1,000 1,000 0
o=sXz&d 29 222 7Y 1,000
02 =294l 13,920 13,920 0
O=X3z 22 X228l 250,000& x12& 3,000
odII=2 600,000& x12& 7,200
(OES =g = 50,000& =12& 600
OBEotAH | 110,000& = 12& 1,320
oOsIIHEBHAUM 2 150,000& = 12& 1,800
FOUEAHOMA =& 100,000 0 100,000
401 Al HI L 2 0HHI 100,000 0 100,000
01 A&l 100,000 0 100,000
O <=22I0F=20l0kD| (Storytel ling) QL& A X| 66,000
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